H & 0l & AHS B Ml A

=23
BNE JEsE3
of AlgdlA J|gt A= EER=E)
SA - FE - SRA(3H) - MRAE - Off &4 I8N BlunsZ
lleE2s 3,956,490 4,109,244 A152,754
= 386,480 386,480 0
=S 206,500 206,500 0
e 3,363,510 3,516,264 A152,754
HEAXE Jlz=Es 3,906,673 4,068,270 ~161,597
= 386,480 386,480 0
< 206,500 206,500 0
i 3,313,693 3,475,290 ~161,597
Algdat Jlgt 2= 1,312,600 1,384,330 AT1,730
= 122,480 122,480 0
= 67,500 67,500 0
= 1,122,620 1,194,350 AT1,730
sgsE SN 64,200 65,700 A1,500
201 2Bt ] 16,200 17,700 A 1,500
2 s3234l 3,500 5,000 A 1,500
O4gdtl |A 2= HIS 2,500 4,000 A 1,500
Bl QHMAAN AFMEET RIRAL (M EALY) 298,373 299,000 N627
< 40,000 40,000 0
= 258,373 259,000 N627
402 QI”FXH=0I1 A 298,373 299,000 N627
< 40,000 40,000 0
= 258,373 259,000 N627
02 QI XHE AL E R (01X THE) 298,373 299,000 NB27
Ol gollEs SSLM(AN) XA 298,373 299,000 N627
= 40,000 40,000 0
[ 258,373 259,000 NB27
AEed S3AE 510,600 575,600 65,000
201 Zet2d] 4,000 5,000 1,000
01 AlR2telHl 4,000 5,000 1,000
OSSYHM =& 2ZHI(AUH2,2H91E S) 4,000 5,000 A 1,000
402 RI”FXH=01 A 498,600 562,600 264,000
01 QI X2 AL E R (K THE) 498,600 562,600 64,000
Os&= dolils ss2H N3AE 498,600 562,600 264,000
—b GallE A= (E3)LH XA 319,000 369,000 50,000
—bl SallE At=(2ehH A XA 115,600 129,600 A 14,000
AgAE Jlesgy N 46,397 48,000 1,603
402 RIR”FXH=Z0I1 A 42,797 44,400 A1,603
01 QIZEXHE AL 2 (REHITH ) 42,797 44,400 1,603
OO=220! =2 B Holls UM d=ist Al 6,830 7,200 A370
Obl =52 ZF2 Albl JMAH M AlY 13,167 14,400 N1,233
S=IISHH 29 3,000 6,000 3,000
201 ZB=Eh] 3,000 6,000 3,000
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2A: JleEs3u
34 388 J=Es
e S Al JE 5 (Gt H2)
A -3 - HRAE) - NRANY - BES Ofl &F2H I3 A Hwusz
01 At 2teltl 2,000 4,000 2,000
O&=Jt=dH =< 2,000 4,000 2,000
2 s5=23Hl 1,000 2,000 1,000
O&=JtsHE AE3H FX2+4 1,000 2,000 1,000
SELSHY Jl=23 1,190,588 1,227,588 AB7,000
= 164,000 164,000 0
< 109,000 109,000 0
z 917,588 954,588 A37,000
NIl=E2s8AME A5 616,718 653,718 A37,000
402 212EXH201H 616,718 653,718 A37,000
01 QIZENHE AL 2 (RERITH ) 616,718 653,718 AB7,000
OYag)| B33 JIttxrd AlE 377,000 390,000 A13,000
Okt 2F 28 MUK =4 AlE 26,718 50,718 A\24,000
HUASHS A4 1,403,485 1,456,352 A52,867
= 100,000 100,000 0
T 30,000 30,000 0
= 1,273,485 1,326,352 A52,867
AL ASE222S 179,875 191,682 A11,807
101 Q144 56,312 56,912 AB00
08 SRH(PIHS) 222+ 900 1,500 2600
OAEINY HE2e| FL22 ¢
150,000 +6 900 1,500 2600
201 Ler2aY| 24,500 30,600 26,100
01 At 2teltl 14,000 16,100 A2,100
OANEZE WF Wi M= 0 1,200 A1,200
OAlghlg Haatel 45 ¢
60,0002 « 15 900 1,800 £900
R =23l 10,500 14,500 24,000
OdteA 28 & NS ==l
1,000,000 300 3,000 7,000 4,000
206 MHZH 21,600 26,600 5,000
01 M=l 21,600 26,600 5,000
OAYE UF 29 M7 0 5,000 5,000
402 212HXH201H 13,428 13,500 AT2
01 QIZENHE2 AP 2 (RERITH ) 13,428 13,500 AT2
OLNF 2t - ZHIAAE AlE 13,428 13,500 AT2
405 Rhak S| 11,965 12,000 N35
01 MM =S FSHI 11,965 12,000 A35
OZEMHI0IH 2 8,965 9,000 A35
WSS SHSAEE 29 258,940 300,000 41,060
= 100,000 100,000 0
z 158,940 200,000 41,060
401 AlZHIL 2 CHY] 258,940 300,000 41,060
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